
Homework 10
Topology II

Winter 2016/17

See also Problem 2 and 3 from Homework 9

Problem 1
Compute the cohomology rings H∗(RPn;Z) and H∗(RP∞;Z).

Problem 2
(1) Show that H∗(

∐
αXα;R) ∼= ⊕αH∗(Xα;R) as rings.

(2) Show that H̃∗(
∨
αXα;R) ∼= ⊕αH̃∗(Xα;R) as rings if the base points xα ∈ Xα used for the

construction of the wedge admit an open neighborhood which contracts onto xα.
(3) Show that RP 3 is not homotopy equivalent to RP 2 ∨ S3. Compute their homology and coho-
mology groups with various coefficients.
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